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Write answers to the questions on the objective answer shael provided. Four possible answers
are given. Which answer sou consider correci fill the corresponding circle AB,C or I in front of
each question with marker or ink on the answer sheet provided.
The range ©f probability is bativeen :
(A Oto1 {3 -1t +1 {C) 00w (D} -=t00
Random nurnbers can be gencrated !
(A) Manually (3) Mechanically (C) Both (A) & (B () Mone of these
¥ Cisconstant, then E(Cy=_ __ .
{A) C (5) zaero (Ch 1 () None of these
In a binomial experiment , the successive triais are
(A) Fixed {B) Dependent {C) independent (D) All of these
The mean and variance of Binmial distribution are
(A np & npg {B) n&p (<) nq & frg () np & J/np
The mean of hyper geornatric listiibution is:
w ® , © = o EE
At present word statistics is uesdin 5EMn36S.
(A) 2 By 3 (C} 4 ([} None of these
A siatistical table has atleast ____ parts.
(A) 5 By 4 2y 3 (o) 2
Median divides the data into ________ parts.
(A) 2 B8) 4 (y 10 (D) 100
The most frequent value of data if it exists is
(A) Mode () Median <) Mean (D} Geometric Mean
The mean is based on:
(A) Small values (B) Large values  {C) Al values (D) None of these
For a symmetrica: distribution,
(A B, =0 (E) 8, =3 (<) By =1 (D) By =-3
Mean deviation of the values <.4,4,4, is
(A) zero B) 4 (<) 3 )] 12
The standard deviation of 8,5,8,8,8is
(A) V8 (B) 8 (Cy  Zero o @
Which is the most suitable average in chain base method?
(A} AM " GM () Hivi {C) Median
CPl is the abbreviation of ________ Price Index.
{A) Consumer (8 Constant (C) Current [{)! Special
A coin and a die can be thrown together in _____ ways.
(A) 2 {13) 12 ) 8 (5] 24
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5 Give short answers of any eight paits from the following . 2x8=16
(i) Whatis Inferential Statistics. (iiy Define data wiih an example.
(iiiy  What are demerits of the Harmoni s Mean? (iv) Find AM. when D = X-20. n =30 and ¥D =60
vy What is fixed base method to finct index numbers? (vi)  What asz consumer price index numbers?
(vii) Whatis the mode in the data 3.7,6,8.4,32 and 37 (viily  Write two merits of Mode.

(ix) What are the simple index numbers?

(x) Given that Laspeyre's index = 140 and Paasche’s index = 142, Find Fisher's index.

(xi) Find the value of mode in syrmmet ical distridution wher the value of Mean and Mediar is 10 each.
i) Find G.M. when A.M. and .M. of wo values are 64 ana 4 respectively.

3. Give short answers of any eight pars from the foilowing . 2x8=16
(i) Explain pie Chart in your own wort Is. (it what do you mean by skewed distribution?
(itiy Describe the measure of dispersicn. (iv) Define quartite deviation with formula.
(v) Narrate any two properties of sianard deviation. (vi) What do you mean by mesokurtic distribution?
(vii) Explain empirical definition of prok ability. (vili) Distinguish between the terms sample point and outcome.
(ix) i two fair coins are tossed, find the probability of getting no heads.
(x) Suppose P{A) =§ JPAUB) = i znd P(ANB) = 1—10 Find P(BL.
(xi) Giventhatn=10, Y(X-15) = -2G and 3 (X — 15)? = 524. Find variance.
(xii)y Given that mean = 80, median = 43 and coefficient of skewness = 1. Find the value of variance.
4. Give short answers of any six paits fom the following. 2x6=12
(i) What do you mean by expected vedue-of a random variable? (i)  Define random variable.
{iii) Describe the properties of the probability distribution. (iv) Whatis a Bernoull trial?

(v) Whatis the mean and variance of hypergéemetric distribution? (vi) Describe two properties of binomial experiment.
(viiy Ifp= % , n = 15, what will be the mean and variance of biromial distribution?
(viii) Giveni(X) = % X =1,2,3,4. Show that f(X) is a probapility function.

(ix) If X is hypergeometric i.v. with N =10, n=4 and k=3, find P (X =1]).
Section.- It
Note:- Altemnpt any three question frum the following. 8x3=24
5. {a) Find arithmetic mean from the following data:

Classes 0-10__ | 10-40 | 40-90 1790140 44428
f ae 110 | 150 70

(b) The reciprocal of X values are yiven below :
0.0500, 0.0454, 0.0400, 0.033%, 0.0285. Find Geomeiric Mean of X,

6. (a) Firstthres moments of distribution about X = 2 are 1, 2.5, and 5.5. Calculate Mean and Coefficient of Variation 4+ 4 =8
(b}  Compute the coefficient of skewness from the given data :
Groups 0-10 10-20 | 20-30 | 30-40 |
f 4 12 3 2 |
7. (a) Compute link relatives and chain indices : 4+4=8
Years 2017 2018 2019 | 2020 | 2021 | 2022
Prices | 146 151 158 | 171 | 179 | 190

(b) A pair of dice are rolied. Find tha probability that the sum of the
uppermost dots is either 6 or 9.
8. (a) A faircoinis tossed three times. Let X be & random variabie which denotes the number of heads. Whatis the 4 + 4=8
probability distribution of X?
(b) A continuous random variable X has probabiiity density function ;
fix)= C.x for D<x<2

Calculate (i) C (ii) P(1<x < 15)
9. (a) Abag contains 4 red and 6 black balls. A sample of 4 balls is selected from a bag without replacement. Let x 4+ 4 =8

be the number of red balls. Find the prabability distribution of X.

{b)  Ina binomial distributuion with 2 = 5, what is the value of other Parameters if P X=0)=PX=1) Findits

Mean and variance. i
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